Appendix to DataColada[68] — Results do not hinge on size of pilot study

Here is the main figure in the post but setting up the pilot so that it has n=15, n=35 and n=50 instead of
n=25

Total # of subjects needed per N=200 false-positive study

o 16k
(]
T
it
c 12k
(4]
2
[#]
L o8k
o
3 Without pilot-dropping you need 4000 people
for one N=200 p<.05 study
S 4k Y
#* ooy o
T T T T T T
0.05 0.1 0.2 03 0.4 05
p-value cutoff to drop pilot
Total # of subjects needed per N=200 false-positive study
he} —
o 16k
°
@
c 12k
(]
2
o
2 8k
o
= [ 4000
I Without pi ot-f-:oaa:g you need 4000 pecple
..6 m for one N=200 p<.05 study
*® o,
T T T T T T
0.05 0.1 02 0.3 0.4 0.5

p-value cutoff to drop pilot

Total # of subjects needed per N=200 false-positive study

2

o 16k

(7]

g

n 12k

-

Q

@

a 8k

=

0 thout pilot-dropping you need 4000 people
"6 4k for one N=200 p<.05 study
ook

0.05 0.1 0.2 0.3 0.4 0.5
p-value cutoff to drop pilot

To check the code works as expected, here it is if the pilot is n=99, obviously almost no gain for p>.05
and only losses if p<.05
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